SPECIFICATIONS
Current Rating: 3 AMP
Insulation Resistance: 1000MQ Min.
Contact Resistance: 20mQ Max.

ORDER INFORMATION

lll@@@ll[]ﬂﬂ
1

[A]
=

X]

X [X]

X HE@Q

Dielectric Voltage: 1000V AC for one minute A\ | | —r—‘ |7—‘—|_
Operation T ture: -55°C to +105°C _ .
Il;::?El;r;Azmpera e ° L:Tin shell + L(RoHS) No. of contacts A:With Forking i Cear Hole 005 GO:EZ-::'IESh SO:SS:'Izz“'Ive ©B:Black A:Tray
Insulator: PBT+30% G.F., UL94V-0 2:Nickel shell + L(RoHS) ’ Grounding A: .Thread Insert #4-40 YR 810w U:Blue ’ @
g}? nﬁacstt Blr ass c;T:.rfi&?ﬁjﬁ%ﬁ%ﬁhsmw 2S§g: :gigﬁ Screw Height
ell: ee #4-40 Removable + Rivet ground strap
Clinch Nut : Brass, Nickel Plated ©:Standard Recommend D:Front Rivet #4-40 H:4 /3\ oL
Screwlock : Brass, Nickel Plated e o memouaie A
VN P/N Screw Height
4: Front Rivet #4-40 H:4.8 57HDDRXM'XXANXXXA'01
A 5THDDRXM - XXAAXXXA-01
5 STHDDRXM-XXADXXXA-01 | Non Screv
C #4-40 UNC STHDDRXM - XXA4XXXA-01
A I / STHDDRXM- XXABXXXA-01 118
— S > Yy a j \ ;4 STHDDRXM- XXACXXXA-01 48
ontac o .
Al bbb 4 57HDDRXM- XXAMXXXA-01 ‘
15 [ 30.80 | 24.99 [ 16.90 | 2.29 g &8l _@ﬁ@ﬁ?ﬁ@%——} - e DORYxameso1 | (O (I
26 39.20 33.32 25.30 2.29 0 X g ol 0 03
44 53.10 | 47.04 [ 39.00 | 2.29 i mm inbrrin i PPaABKANA- D
A 62 70.00 | 63.50 | 55.20 | 2.41 L WIOELY {1 57HDDRXM - XXACKXXA-02 5.8 ‘
5THDDRXM- XXAWXXXA-02 | S  —
A D 0.254
k | /N\12.55+0.25
B | @
|_| I_J |_| 2021.12.02
oooe( oo 4} p o '
Q} ww‘% O - =i 98 | @
= # R A /A |
3 = i i P A 285038 - L1
E /A 3.95:0.3 !
Recommended PCB Layout Old Part No.:HDBR-MXX-L
(PCB TOLERANCE 0.05) =7 T
TITLE A H.D. D-SUB MALE R/A DIP TYPE Page 12
“XXAXXXXA-
PART NO. 57HDDRXM 0X | prawn 2015/09/08
Bl 55 L N ik =) Josh
/Ax2 Revise the drawing Alice 2021/4/20 e LG e Jason
. : FALAF B 7 "L & LusToMER PN scALE| VM lpprovED 2018/12/24
) ECN NO.: 181107, add an option: D: Front Rivet #4-40, H=4.0. Gary 2018/12/24 | omtek 'I"}echnology Co., Ltd. ~Z X 2038 § - THIRD
REV. ECN NO. OR DESCRIPTION REVISED| DATE TeL: a86-2.2260.6878 TOLERANCE XX 0.25 onr | MM |tee @ =



design
機構部門、完整姓名、日期


Clear Holeg

—L]

—
=]
—

57HDDRXM-XXANXXXA-01
Clear Hole @3.05mm

57HDDRXM-XXADXXXA-01
Front Rivet #4-40, H=4.0

—H

———
e
=y

57HDDRXM-XXAAXXXA-01
Thread Insert #4-40

#4-40

57HDDRXM-XXAMXXXA-XX
Thread Insert #4-40
+ Jack Screw #4-40 Removable

57HDDRXM-XXABXXXA-XX
Thread Insert #4-40
+ Jack Screw #4-40 Attached

57HDDRXM-XXAWXXXA-XX
Thread Insert M3
+ Jack Screw M3 Removable
+ Rivet ground strap

57HDDRXM-XXACXXXA-XX
Thread Insert #4-40

+ Jack Screw #4-40 Removable
+ Rivet ground strap

#4-40
od] ﬁﬂ
<f X
] -

———
—e——
=y

57HDDRXM-XXA4XXXA-01
Front Rivet #4-40, H=4.8

Old Part No.:HDBR-MXX-L

= X
.D. D- 212
TITLE /B H.D.D-SUB MALE R/A DIP TYPE Page
“XXAXXXXA-
pARTNO. | °/HDDRXM OX | prAwN | 201509108
Bl 5 [ S ik =1 Josh
s ECN NO.:211106 Revise the Layout & Dimension Benson | 2021/11/22 prawing no.|  GNOIO-GB736 | ory | F |oiiecken| 2018712724
/Ax2 Revise the drawing Alice 2021/4/20 o S N it 3 o N EE Jason
: : . AL % 7 "L 2 cusTOMER PIN SCALE| O™ lapPROVED 2018/12/24
@ <2 ECN NO.: 181107, add an option: D: Front Rivet #4-40, H=4.0. Gary 2018/12/24 Amtek Technology Co., Ltd. % X 1038 s THIRD
REV. ECN NO. OR DESCRIPTION REVISED| DATE L e e TOLERANCE XX 0.25 onr | MM A @ =




	57HDDRXM-XXAXXXXA-0X
	57HDDRXM-XXAXXXXA-0X-2

